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a⃗ = (1, 1) , p⃗ = (cos θ, sin θ)とします。

θが実数全体を動くとき
∫ √

2
4

0

(xa⃗− p⃗) · a⃗
|xa⃗− p⃗|2

dxの最大値を求めてください。
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解説・解答

f(x) = |xa⃗− p⃗|2 = (x− cos θ)2 + (x− sin θ)2 = 2x2 − 2
√
2 x sin

(
θ +

π

4

)
+ 1と置きます。

f ′(x) = 2(x− cos θ) + 2(x− sin θ)なので

(xa⃗− p⃗) · a⃗ = (x− cos θ) + (x− sin θ) =
f ′(x)

2
です。

∫ √
2
4

0

(xa⃗− p⃗) · a⃗
|xa⃗− p⃗|2

dx =
1

2

∫ √
2
4

0

f ′(x)

f(x)
dx =

1

2

[
log f(x)

] √
2
4

0
=

1

2
log

{ 5

4
− sin

(
θ +

π

4

)}
以上より sin

(
θ +

π

4

)
= −1のときに最大値
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2
log

9

4
= log

3

2
です。
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